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HENRICO AREA MENTAL HEALTH & DEVELOPMENTAL SERVICES

FY2018 ANNUAL POST DISCHARGE REPORT

Unit SubUnit HAMHD § |CARF | Apr | May ‘ Jun | Jul | Aug | Sep | Oct ‘ Nov ‘ Dec | Jan | Feb | Mar | Total
Discharges by Program (Apr 2017 - Mar 2018)
1300 |HCE1HCPFHCW 182 CM&A MH Case Management 19 20 18 15 22 14 15 17 32 24 22 35 253
1301 HACF HACW HYAR PACT Assertive Comrunity Treatment 3 4 3 2 3 1 2 2 1] 4 5 7 36
1302 HDLH WMH Day Support MH Community Integration 2 0 1 4 1 2 3 2 4 4 3 3 29
1303 HRTO WH Residential MH Community Housing 1] 0 1] Q0 1] 0 1] 0 1] 0 1] 1] 0
1304 HSEL MH Vocational MH Community Employ ment 2 1 1 1 0 0 1 1 1 1 1 3 13
1306 HSSW, HSSE, HSSP WMH Supported Svcs  |MH Supported Living 2 T 2 1 3 1 0 0 1 0 1 4 22
2001 ROSTROEP, RONW LEP 1D Community Integration 1] 0 ] ] 1] 0 ] 0 1] 0 1] 1 1
2002 RSEU ID Supp Employ 1D Community Employment 0 1] ] 0 1 1 1 0 1 2 1 ] 7
2007, ROSH, RUSC, RUST,
2008 RDHE, RDCY Sheltered Employ 1D Organizational Emplayment 0 0 1 1 0 0 ] 0 1 1 0 ] 4
2008 RSGE, RSGH, RSGW, RDEMID Group Supp Ermpl |10 Community Employment 0 0 0 0 0 0 0 0 0 0 0 0 0
Total 28 32 26 24 30 19 22 22 40 36 33 53 365
unit  [Subunit |HAMHDS |cARF | Apr | May | Jun | Jul | Aug | Sep | oct | Nov | Dec | Jan | Feb | Mar ‘ Total R:s:t:;se
'Survey Response Rates (Apr 2017 - Mar 2018)
1300 HCE1,HCPF HCW 182 ICI'ﬂ&A MH Case Management 2 2 2 1 1 8 3%
1301 HACF, HACW, HYAR |F‘ACT Assertive Community Treatment 2 2 6%
1302 HDLH |MH Day Support MH Cormunity Inte gration 1 1 3%
1303 HRTO |MH Residential MH Community Housing 0 0%
1304 HSEL |MH Vocational MH Conmunity Erployment 0 0%
1306 HSSW, HSSE, HSSP |MH Supported Sves  |MH Supported Living 1 2 3 14%
2001 ROSTROER.RONW LEP 1D Community Integration 0 0%
2002  |RSEU 1D Supp Employ 1D Community Employ ment 0 0%
2007, 2008 |aos=. sosc. Aose. Ao=E Aocy | Sheltered Employ 1D Organizational Employ ment 0 0%
|2008 RSGE, RSGH, RSGW, RDEMID Group Supp Enpl  |ID Community Employ ment 0 HDIVO!
Total 2 3 5 0 3 0 0 1 0 0 0 0 14 4%
Response Rate T% 9% 19% 0% 10% 0% 0% 5% 0% 0% 0% 0% 4%
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FY 2018 CSS RECORD REVIEW RESULTS SUMMARY
Target for All Programs is 9o%
FY2018 FY2zo17 Comments

NORTH 1 WAIVER 88% na 1 7 percentage points from FY16
EAST 1 WAIVER g0% na 1 4 percentage points from FY16
EAST 2 WAIVER 88% na 1 3 percentage points from FY16
WEST 1 WAIVER Q4% na maintaining 9o+ compliance
WEST 2 WAIVER 89% na | 2 percentage points from FY16
NORTH 15PO Q2% na 1 3 percentage points from FY16
EAST 1 SPO q7% na 1 18 percentage points from FY16
EAST 2 SPO 82% na | 9 percentage points from FY16
WEST 1 5PO 96% na maintaining 9o+ compliance
WEST 2 SPO 94% na 1 9 percentage points from FY16
DD CM HAMHDS 93% DD CM started reviews in Oct 17
HERMITAGE vOC 88% g% | 4 percentage points from FY17
CYPRESS VOC 97% 967% maintaining 90+ compliance
ENCLAVES g7 g4 maintaining 9o+ compliance
LEP g3% g5% maintaining 90+ compliance
STEP g8% g5% maintaining 90+ compliance
SUPPORTED EMPLOYMENT 96% 95% maintaining go+ compliance
RESIDENTIAL 86% 83% 1 3 percentage points from FY17
ID ADMINISTRATIVE 92% 1% maintaining 90+ compliance
Represents area in compliance 9o% or better

Represents areas where results are below 85%, in BOLD is under 80%

Represents areas that improved by more than 5 percentage points
Represents areas that improved by 1-4 percentage points (not done in 9o%+ range)
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